GRE Arithmetic Practice Paper 1
Question 1

Melther x nor y is equal 1o O

xy = dy/x

qulHI‘JI.]I' B
Quantity B: 2

Passible Anpaers:

Quantity B is greater.

The refaticnship cannct be determined from the information ghwen

The téd guantities are agual

Quantity & is greater.

Question 2

guunlil:lr_ﬂ.:&
Quantity B: (25 + 55)

Possiple Answers:

Quany B is greater.

The relationship cannot e detesmined from the information given.

Quanitity A i5 greater

The two Quantities are squal,

Question 3



Simplify:
/5,300

Possible Answers

1033
0003
00270
0./ 500

9043

Question 4
/T80 4 /TG =T
Passible Anmwers:
11,/10
17.5
I
11,/6

26.0

Question 5



Simplify.
vBH

Fossiole Answers:

1650

8/ 30

2,/90

5]

4,/30
Question 6

Reduce  J1W to its sinpdest form.

Foscible Answers:
2./ HI

VI

12

S0

.|

Question 7



Simplify.
W T

Possible Answers

by'TH

JT2

V720

144,/

12,5
Question 8

Fimd the sqpuare rooat of 1 800,

Fossinle Answess:

oo

1]

2,/60

V32

30,2

Question 9



Slmph‘f}'.
%y '.r:.4-

Passiole Ansaers

“\.:E

Question 10

The average (arithmetic mean) high temperature for x days is 70 degrees. The addition of one day with
a high temperature of 75 degrees increases the average to 71 degrees.

Quantity A Quantity B

x5

(A) Quantity A is greater.
(B) Quantity B is greater.
(C) The two quantities are equal.
(D) The relationship cannot be determined from the information given.

Question 11
a and b are integers.

a2=bs
Quantity A Quantity B

ab



(A) Quantity A is greater.
(B) Quantity B is greater.
(C) The two quantities are equal.
(D) The relationship cannot be determined from the information given.

Question 12
A certain pet store sells only dogs and cats. In March, the store sold twice as many dogs as cats. In
April, the store sold twice the number of dogs that it sold in March, and three times the number of cats
that it sold in March. If the total number of pets the store sold in March and April combined was 500,
how many dogs did the store sell in March?

(A) 80

(B) 100
(C) 120
(D) 160
(E) 180

Question 13

Which two of the following numbers have a product that is between -1 and 0?
1. -20

2. -10

3. 274

4. 372
Question 14

Each month, Renaldo earns a commission of 10.5% of his total sales for the month, plus a salary of
$2,500. If Renaldo earns $3,025 in a certain month, what were his total sales?

Question 15

At a recent dog show, there were 5 finalists. One of the finalists was awarded "Best in Show" and another
finalist was awarded "Honorable Mention." In how many different ways could the two awards be given
out?

Question 16



If the ratio of the ages of two friends Aand Bis 3:5and thatof Band Cis 3
: 5 and the sum of the ages of all 3 friends is 147, how old is B?

A. 15 Years

B. 75 Years

C. 49 Years

D. 45 Years
E. 27 Years

Question 17

In a certain year, California extracted
2

7

27th and Texas extracted

1

7
17th of all the Uranium ore extracted in the United States. If all the other

states combined extracted 28 million tons that year, how many million tons

did Texas extract that year?

A 12
B.7
C.14
D.5
E.8



Question 18

N is the smallest positive integer that has 7 factors.

Column A

Column B

Number of factors of vN

Number of factors of (N - 2)

A. Column A is greater
B. Column B is greater

C. The two columns are equal

D. Cannot be determined

Question 19

How many pairs of natural numbers whose HCF is 12 add up to 216?

A.6
B.3
C.9
D.18

E.17
Question 20

Set A comprises all 3-digit numbers that are multiples of 6. Set B comprises

all 3-digit numbers that are multiples of 4 but are not multiples of 8. How

many elements does (A U B) comprise?

A. 224
B. 225




C. 263
D. 265
E. 300



